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SR @ |7 #EE - C\Users\Administrator\Desktop\Learningmatlab\matrix learning.m
0 &k TR
(2] matrix lea...
) matrix lea... [ >> romd(3. 198mEFEN

2=1:5:min (S EME

untided2m’ | px s ikin

>> nax (nax (nat1))

54

> clear all
BEXHUSERE ( pac(,:,1)=[0110:0000:0001:0100:0010]
mat(5,,2)=[1011:1011:00000100:0111]
mat(5,:,3)=[0 0 0 0:11 0 1:0 0.0 0:0 00 0:0 0 0 014331 Z44IEM
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ratlab\Unit

o | Untitled3* 5 | 4
dir O
u gradeofgroupl=[95 87 89:65 70 76: 88 90 92; 94 55 78] —
u ‘gradeofgroup2=(86 89 75:85 65 77: 78 80 95: 93 75 88] —
- gradeofgroupsverteat (gradeofgroupl, gradeofgroup?) =
- mathesortrows (gradeoferoup, —2) =
- nax(gradeofgroup)
- nin(gradeoferoup)|
10
11 - gradeofgroup(2,1:3)=[78 80 95] =]
12 - gradeofgroup(7,1:3)=(65 70 76] =]
3
14— gradeofgroup (1:8, 1)=gradeofgroup (1:8, 1)+1 =]
15 - gradeofgroup (1: 8, 3)=gradeofgroup (1:8, 3)+1 =]
1
17 - for i=1:size(gradeofgroup, 1)
18 - if all(gradeofgroup (i,:)>85)
19 - disp(’you have done a great work!’)
- else
2 - disp(’try again’)
2 - end
2z~ lend
IFK | #4am0 ®
5.0000 5.0000 5.0000 5.0000 ~
EEHEEE 08310 0.0077 05890  0.6539
00346 0.3834 09304 04160
0.0535  0.0668  0.8462  0.7012
. > fi» o
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